Arbeitsauftrag 2: Gruppenarbeit (Variante 2) Fehler ohne PE-Funktion
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	Textfeld 1: 1,2 Ω
	Textfeld 1_2: 1 kΩ 
	Textfeld 1_3: 10 Ω 
	Textfeld 1_4: U L1-N
	Textfeld 1_5: U
	Textfeld 1_6: I Fehler
	Textfeld 1_7: U Berührspg.
	Textfeld 1_8: U Übergang
	Textfeld 1_9: 227,5 mA
	Textfeld 1_10: 227,5 V
	Textfeld 1_11: 2,275 V
	Textfeld 1_12: 230 V
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	Textfeld 1_14: R Gesamt
	Textfeld 1_15: 1011,2 Ω
	Markierfeld 1: Yes
	Markierfeld 2: Yes
	Markierfeld 1_2: Off
	Markierfeld 1_3: Yes
	Kombinationsfeld 1: [RCD löst nicht aus!]
	Kombinationsfeld 2: [LS 16 A löst aus!]
	Kombinationsfeld 1_2: [RCD löst nicht aus!]
	Kombinationsfeld 1_3: [LS 16 A löst aus!]
	Kombinationsfeld 1_4: [10 ms Kammerflimmern wahrscheinlich!]


